

Meyer & Associates, Inc. Consulting Engineers

Vernon F. Meyer, P.E. President Richard T. Meyer, P.E. Vice President

June 9, 2023

Ms. Kelly Bailey, President Beauregard Parish Police Jury 201 W. 2nd Street DeRidder, LA 70634

Re: Longville Road Improvements Award Recommendation M.A. Project No. B6-22032-DA

Dear Ms. Bailey:

In regard to the captioned project, we would like to offer the following Bid Evaluation and Award Recommendation concerning the bids received on June 7, 2023.

BID SUMMARY AND EVALUATION

The following is a summary of the five (5) bids received:

Bidder	Total Base Bid				
R.E. Heidt Construction Co., LLC	\$711,905.10				
R.C. Paving, Inc.	\$757,313.26				
Apeck Construction, LLC	\$814,436.09				
T.L. Construction, LLC	\$866,864.00				
Prairie Contractors, LLC	\$1,238,425.00				
Engineer's Estimate	\$833,334.00				

An itemized bid tabulation is attached for your review.





MEYER & ASSOCIATES, INC.

Consulting Engineers

Ms. Kelly Bailey, President June 9, 2023 Page 2

A review of the bid summary reveals that the lowest responsible bidder was R.E. Heidt Construction Co., LLC with a Total Base Bid of \$711,905.10. It is our opinion that this amount provides a competitive and reasonable cost for performing the work called for in the plans and specifications.

AWARD RECOMMENDATION

Meyer & Associates, Inc. recommends award of this construction contract to R.E. Heidt Construction Co., LLC in the amount of their Total Base Bid of \$711,905.10 contingent upon Facility Planning and Control's concurrence of award and receipt of the 10 Day Forms. Upon your concurrence with this award, the Notice of Award and Construction Contracts will be forthcoming under separate cover.

We trust our recommendation meets with your approval; and should you have any questions concerning same, please advise.

Sincerely,

Andrew T. Mattingly, P.E.

Enclosure

Cc: Mrs. Tina Trahan, M.A. w/att Mrs. LeAnna LaVergne, M.A. w/att.

BID DATE: June 7, 2023 BID TIME: 10:00 A.M. (Central Daylight Savings Time)

CONTRACTORTOTAL BASE BIDR.E. Heidt Construction Co., LLC\$711,905.10R.C. Paving, Inc.\$757,313.26Apeck Construction, LLC\$814,436.09T.L. Construction, LLC\$866,864.00Prairie Contractors, LLC\$1,238,425.00ENGINEER'S ESTIMATE\$833,334.00

I hereby state that to the best of my knowledge and belief this is a true and correct tabulation of the bids received for the project described herein.

Malle

RECEIV

JUN 1 0 2023

Beauregard Parish Police Jury

Andrew T. Mattingly, P.E.



R.E. Heidt Construction Co., LLC P.O. Box 820 Westlake, LA 70669 LA Contractor Lic. No. 183 R.C. Paving, Inc. 320 Ampacet Drive DeRidder, LA 70634 LA Contractor Lic. No. 36285 Apeck Construction, LLC P.O. Box 640 Anacoco, LA 71403 LA Contractor Lic. No. 27239

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
202-02-32100	300	LF	Removal of Pipe (Storm Drain)	\$35.35	\$10,605.00	\$38.50	\$11,550.00	\$52.93	\$15,879.00
203-07-00200	500	CY	Borrow (Vehicular Measurement) (Pre-Treated Lime Fill) (4% by Volume)	\$53.53	\$26,765.00	\$58.30	\$29,150.00	\$8.37	\$4,185.00
206-01-00100	1	LS	Storm Water Pollution Prevention Plan	\$2,500.00	\$2,500.00	\$3,300.00	\$3,300.00	\$2,988.96	\$2,988.96
401-02-00100	400	CY	Aggregate Surface Course (Vehicular Measurement)	\$151.00	\$60,400.00	\$134.50	\$53,800.00	\$143.42	\$57,368.00
402-01-00100	50	CY	Mainline Traffic Maintenance Surfacing (Aggregate) (Vehicular Measurement)	\$200.00	\$10,000.00	\$217.00	\$10,850.00	\$124.34	\$6,217.00
502-01-00100	2,900	Ton	Asphalt Concrete	\$125.00	\$362,500.00	\$146.38	\$424,502.00	\$162.05	\$469,945.00
502-01-00200	100	Ton	Asphalt Concrete, Drives, Turnouts and Miscellaneous	\$180.00	\$18,000.00	\$146.38	\$14,638.00	\$173.84	\$17,384.00
509-01-00100	1,500	SY	Milling Asphalt Pavement	\$9.00	\$13,500.00	\$10.00	\$15,000.00	\$6.71	\$10,065.00
510-01-00104	700	SY	Pavement Patching (10" Minimum Thickness)	\$85.00	\$59,500.00	\$105.20	\$73,640.00	\$132.03	\$92,421.00
701-01-01081	96	LF	Cross Drain Pipe (48" RCP)	\$222.20	\$21,331.20	\$242.00	\$23,232.00	\$302.00	\$28,992.00
701-02-01000	64	LF	Cross Drain Pipe Arch (24" Equiv. RCPA)	\$171.70	\$10,988.80	\$187.00	\$11,968.00	\$246.76	\$15,792.64
701-02-01080	80	LF	Cross Drain Pipe Arch (48" Equiv. RCPA)	\$265.63	\$21,250.40	\$289.30	\$23,144.00	\$320.03	\$25,602.40
713-01-00100	1	LS	Temporary Signs and Barricades	\$15,150.00	\$15,150.00	\$8,500.00	\$8,500.00	\$2,988.96	\$2,988.96
726-01-00100	75	CY	Bedding Material	\$186.85	\$14,013.75	\$184.80	\$13,860.00	\$16.74	\$1,255.50

R.E. Heidt Construction Co., LLCR.C. Paving, Inc.Apeck Construction, LLCP.O. Box 820320 Ampacet DriveP.O. Box 640Westlake, LA 70669DeRidder, LA 70634Anacoco, LA 71403LA Contractor Lic. No. 183LA Contractor Lic. No. 36285LA Contractor Lic. No. 27239

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
727-01-00100	1	LS	Mobilization	\$50,000.00	\$50,000.00	\$21,010.00	\$21,010.00	\$36,082.42	\$36,082.42
731-02-00100	275	Each	Reflectorized Raised Pavement Markers	\$8.00	\$2,200.00	\$16.50	\$4,537.50	\$17.93	\$4,930.75
732-02-02000	0.75	Mile	Plastic Pavement Striping (Solid Line) (4" Width) (Thermoplastic 90 MIL)	\$7,878.00	\$5,908.50	\$5,632.00	\$4,224.00	\$6,121.40	\$4,591.05
732-03-02000	1.30	Mile	Plastic Pavement Striping (Broken Line) (4" Width) (Thermoplastic 90 MIL)	\$3,686.50	\$4,792.45	\$3,775.20	\$4,907.76	\$4,103.25	\$5,334.23
740-01-00100	1	LS	Construction Layout	\$2,500.00	\$2,500.00	\$5,500.00	\$5,500.00	\$12,413.18	\$12,413.18
			TOTAL BASE BID		\$711,905.10		\$757,313.26		\$814,436.09

T.L. Construction, LLC 114 Columns Drive Alexandria, LA 71303 LA Contractor Lic. No. 35849

Prairie Contractors, LLC P.O. Box 1530 Opelousas, LA 70571 LA Contractor Lic. No. 34356

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
202-02-32100	300	LF	Removal of Pipe (Storm Drain)	\$33.00	\$9,900.00	\$50.00	\$15,000.00
203-07-00200	500	CY	Borrow (Vehicular Measurement) (Pre-Treated Lime Fill) (4% by Volume)	\$60.00	\$30,000.00	\$115.00	\$57,500.00
206-01-00100	1	LS	Storm Water Pollution Prevention Plan	\$3,600.00	\$3,600.00	\$30,000.00	\$30,000.00
401-02-00100	400	CY	Aggregate Surface Course (Vehicular Measurement)	\$127.00	\$50,800.00	\$235.00	\$94,000.00
402-01-00100	50	CY	Mainline Traffic Maintenance Surfacing (Aggregate) (Vehicular Measurement)	\$70.00	\$3,500.00	\$300.00	\$15,000.00
502-01-00100	2,900	Ton	Asphalt Concrete	\$168.00	\$487,200.00	\$185.00	\$536,500.00
502-01-00200	100	Ton	Asphalt Concrete, Drives, Turnouts and Miscellaneous	\$257.00	\$25,700.00	\$375.00	\$37,500.00
509-01-00100	1,500	SY	Milling Asphalt Pavement	\$11.30	\$16,950.00	\$13.00	\$19,500.00
510-01-00104	700	SY	Pavement Patching (10" Minimum Thickness)	\$124.00	\$86,800.00	\$170.00	\$119,000.00
701-01-01081	96	LF	Cross Drain Pipe (48" RCP)	\$344.00	\$33,024.00	\$500.00	\$48,000.00
701-02-01000	64	LF	Cross Drain Pipe Arch (24" Equiv. RCPA)	\$450.00	\$28,800.00	\$350.00	\$22,400.00
701-02-01080	80	LF	Cross Drain Pipe Arch (48" Equiv. RCPA)	\$412.00	\$32,960.00	\$600.00	\$48,000.00
713-01-00100	1	LS	Temporary Signs and Barricades	\$3,600.00	\$3,600.00	\$35,000.00	\$35,000.00
726-01-00100	75	CY	Bedding Material	\$86.00	\$6,450.00	\$165.00	\$12,375.00

T.L. Construction, LLC 114 Columns Drive Alexandria, LA 71303 LA Contractor Lic. No. 35849

Prairie Contractors, LLC P.O. Box 1530 Opelousas, LA 70571 LA Contractor Lic. No. 34356

REF NO.	QNTY	UNIT	DESCRIPTION	UNIT PRICE	UNIT PRICE EXTENSION	UNIT PRICE	UNIT PRICE EXTENSION
727-01-00100	1	LS	Mobilization	\$30,000.00	\$30,000.00	\$125,000.00	\$125,000.00
731-02-00100	275	Each	Reflectorized Raised Pavement Markers	\$8.40	\$2,310.00	\$12.00	\$3,300.00
732-02-02000	0.75	Mile	Plastic Pavement Striping (Solid Line) (4" Width) (Thermoplastic 90 MIL)	\$9,400.00	\$7,050.00	\$10,000.00	\$7,500.00
732-03-02000	1.30	Mile	Plastic Pavement Striping (Broken Line) (4" Width) (Thermoplastic 90 MIL)	\$4,400.00	\$5,720.00	\$4,500.00	\$5,850.00
740-01-00100	1	LS	Construction Layout	\$2,500.00	\$2,500.00	\$7,000.00	\$7,000.00
			TOTAL BASE BID		\$866,864.00		\$1,238,425.00